Mathematics 325

·•

.

Final Exam Summer 2000 Name: Dr. Grow

This final exam consists of seven problems of equal value. Please choose how much you want this exam to count by circling one of the following statements.

I want this exam to count 200 points.

I want this exam to count 300 points.

1. Classify the following partial differential equations as hyperbolic, parabolic, or elliptic, and if possible, find the general solution in the xy-plane.

$$xy - p \text{ lane.}
(xy - p \text{ lane.}
(x + 1) - (a) u_{xx} - 3u_{xy} - 4u_{yy} = 0 \qquad B^2 - 4Ac = 9 - 4(1)(-4) > 0 \qquad hyperbolic + 1
(a) u_{xx} + u_{yy} + 2u_{xy} + 36u = 0 \qquad B^2 - 4Ac = 4 - 4(10) = 0 \qquad parabolic + 1
2 (a) $\left(\frac{3}{3x} + \frac{3}{3y}\right)\left(\frac{3}{3x} - 4\frac{3}{3y}\right)u = 0 \qquad \text{ Int} \qquad g = 4x + y \qquad 1 \\ f = x - y \qquad (x - y) \\ (x + \frac{3}{3y})\left(\frac{3}{3x} - 4\frac{3}{3y}\right)u = 0 \qquad \text{ Int} \qquad \frac{3}{3x} = \frac{31}{3x}\frac{3}{3y} + \frac{31}{3y}\frac{3}{2} = 4\frac{3}{3y} + \frac{3}{3y} + \frac{3}{3y} - \frac{3}{3y} \\ g = \frac{3u}{3y} = c_{1}(y) \qquad ad \qquad \frac{3}{3y} = \frac{31}{3y}\frac{3}{3y} + \frac{31}{3y}\frac{3}{3y} = 4\frac{3}{3y} + \frac{3}{3y} - \frac{3}{3y} - \frac{3}{3y} \\ g = \frac{3u}{3y} = c_{1}(y) \qquad ad \qquad \frac{3}{3y} = \frac{31}{3y}\frac{3}{3y} + \frac{31}{3y}\frac{3}{3y} = \frac{3}{3y} - \frac{3}{3y}$$$

$$\begin{pmatrix} 2\frac{2}{2} \\ \partial \eta \end{pmatrix}^{c} u + 3bu = 0$$

$$\begin{array}{l} \text{Then } \frac{2}{3} = \frac{33}{3x} \frac{2}{3y} + \frac{3\eta}{3x} \frac{2}{3\eta} = \frac{3}{3z} + \frac{3}{3\eta} \\ \frac{3u}{3\eta^{2}} + 9u = 0 \\ \frac{3u}{3\eta^{2}} + 9u = 0 \\ u = c_{i}(3)\cos(3\eta) + c_{i}(3\eta) \\ \end{array}$$

$$\begin{array}{l} \frac{2}{3} + \frac{2}{3\eta} = -\frac{3}{3y} + \frac{2}{3\eta} \\ \frac{3}{3x} + \frac{2}{3\eta} = -\frac{3}{3z} + \frac{2}{3\eta} \\ \frac{3}{3x} + \frac{2}{3\eta} = -\frac{3}{3z} + \frac{2}{3\eta} \\ \frac{3}{3x} + \frac{2}{3\eta} = -\frac{3}{3y} + \frac{2}{3\eta} \\ \frac{3}{3x} + \frac{2}{3\eta} = -\frac{3}{3y} + \frac{2}{3\eta} \\ \frac{3}{3x} + \frac{2}{3\eta} = -\frac{3}{3\eta} \\ \frac{3}{3y} = -\frac{3}{3\eta} \\ \frac{3}{3y} = -\frac{3}{3\eta} \\ \frac{3}{3y} = -\frac{3}{3\eta} \\ \frac{3}{3\eta} \\ \frac{3}{3\eta} = -\frac{3}{3\eta} \\ \frac{3}{3\eta} \\ \frac{3}{3\eta} = -\frac{3}{3\eta} \\ \frac{3}{3\eta} = -\frac{3}{3\eta} \\ \frac{3}{3\eta} \\ \frac{3}{3\eta} = -\frac{3}{3\eta} \\ \frac{3}{3\eta} \\ \frac{3}{3\eta} = -\frac{3}{3\eta} \\ \frac{3}{3\eta} \\$$

14
$$u = f(x-y)\cos(3(x+y)) + g(x-y)\sin(3(x+y))$$
 where fail g are arbitrary C² functions
of a single real variable.

2. (a) Write, and simplify as much as possible, the solution to $u_{tt} = u_{xx}$ in the xt-plane which satisfies

$$u(x,0) = e^{-x^2}$$
 and $u_t(x,0) = -2xe^{-x^2}$ for $-\infty < x < \infty$.

(b) Sketch profiles of the solution to part (a) for times t = 1, t = 2, and t = 3.

(c) Derive a general (nontrivial) relation between ϕ and ψ which will produce a solution to $u_{tt} = u_{xx}$ in the xt-plane satisfying

$$u(x,0) = \phi(x)$$
 and $u_t(x,0) = \psi(x)$ for $-\infty < x < \infty$

and such that u consists solely of a wave traveling to the left along the x-axis.

$$13 \quad (a) \quad u(x,t) = \frac{1}{2} \begin{bmatrix} e + e \\ e \end{bmatrix} + \frac{1}{2} \int -23e \, dz \qquad (A'A \text{ lumbert})$$

$$= \frac{1}{2} \begin{bmatrix} e^{-(x+t)^{2}} + e^{-(x-t)^{2}} \end{bmatrix} + \frac{1}{2} \begin{pmatrix} e^{-3} \\ e^{-3} \end{pmatrix} \Big|_{3=x-t}$$

$$= \begin{bmatrix} -(x+t)^{2} \\ e^{-3} \end{bmatrix}$$



Find the solution to з. $u_{t} - u_{xx} = 0 \quad \text{for } -\omega < x < \infty, \quad 0 < t < \infty,$ which satisfies $u(x,0) = x^3$ for $-\infty < x < \infty$. You may find the following identities useful: $\int_{\alpha}^{\infty} e^{-p^2} dp = \sqrt{\pi}, \qquad \int_{\beta}^{\infty} pe^{-p^2} dp = 0, \qquad \int_{\beta}^{\infty} p^2 e^{-p^2} dp = \sqrt{\pi}, \qquad \int_{\beta}^{\infty} p^3 e^{-p^2} dp = 0.$ $w(x_{j}^{\pm}) = \int_{-\infty}^{\infty} \frac{e^{-\frac{(x-y)^{2}}{4t}}}{\sqrt{4t}} y^{3} dy = \int_{-\infty}^{\infty} \frac{e^{-p^{2}}}{\sqrt{4t}} (x+p\sqrt{4t}) dp$ 12 Let p=(y-x)/14E. Then do = dy/ 14E. $= \int \underbrace{e^{-p^{2}}}_{F} \left(x^{3} + 3x^{2} p\sqrt{4t} + 3x(p\sqrt{4t})^{2} + (p\sqrt{4t})^{3}\right) dp$ 18 $= \frac{x^{3}}{\sqrt{\pi}}\int_{-\infty}^{\infty} e^{p}dp + \frac{3x\sqrt{4t}}{\sqrt{\pi}}\int_{-\infty}^{\infty} e^{p}dp + \frac{12xt}{\sqrt{\pi}}\int_{-\infty}^{\infty} e^{p}dp + \frac{4t\sqrt{4t}}{\sqrt{\pi}}\int_{-\infty}^{\infty} e^{p}dp$

24

30

 $= \begin{bmatrix} 3 \\ x + bxt \end{bmatrix}$

Chede: $u_t - u_x = bx - bx = 0$ 4(x, 0) = x 3

4. (a) Lef f and y be piecewise continuous, absolutely integrable
functions on (-w,w). Use Fourier transform methods to solve

$$(x, + y_y) = 0$$
 for $-\infty < x < \infty$, $0 < y < \infty$,
subject to the boundary condition
 $(x(x)) = f(x)$ for $-\infty < x < \infty$
and the decay conditions
 $(x(x)) = f(x)$ for $-\infty < x < \infty$.
(b) Compute an explicit formula for the solution in part (a) if the
function f is given by $f(x) = 1$ for $(x| < 1)$, and $f(x) = 0$ otherwise.
(a) $f(u_{xx} + u_{yy})(x) = f(o)(x)$ $\therefore f(u_{1}(x)) = 0$ otherwise.
(a) $f(u_{xx} + u_{yy})(x) = f(o)(x)$ $\therefore f(u_{1}(x)) = \frac{1}{\sqrt{4\pi}} f(\frac{1}{\sqrt{4\pi}} \frac{u_{1}}{\sqrt{(c^{1}+y^{2})}})(x)$
 $x = f(x)(x) = c_{1}(x) \frac{1}{\sqrt{2}} + c_{1}(x) \frac{1}{\sqrt{2}} = 0$
 $f(x)(x) = c_{1}(x) \frac{1}{\sqrt{2}} + c_{1}(x) \frac{1}{\sqrt{2}} = 0$
 $f(x)(x) = c_{1}(x) \frac{1}{\sqrt{2}} + c_{1}(x) \frac{1}{\sqrt{2}} = 0$
 $f(x)(x) = c_{1}(x) \frac{1}{\sqrt{2}} + c_{1}(x) \frac{1}{\sqrt{2}} = 0$
 $f(x)(x) = c_{1}(x) \frac{1}{\sqrt{2}} + c_{1}(x) \frac{1}{\sqrt{2}} = 0$
 $f(x)(x) = c_{1}(x) \frac{1}{\sqrt{2}} + c_{1}(x) \frac{1}{\sqrt{2}} = 0$
 $f(x)(x) = c_{1}(x) \frac{1}{\sqrt{2}} + c_{1}(x) \frac{1}{\sqrt{2}} = 0$
 $f(x)(x) = c_{1}(x) \frac{1}{\sqrt{2}} + c_{1}(x) \frac{1}{\sqrt{2}} = 0$
 $f(x)(x) = c_{1}(x) \frac{1}{\sqrt{2}} + c_{1}(x) \frac{1}{\sqrt{2}}$

5. Solve
$$\nabla^{2}u = 0$$
 in the unit cube C: $0 < x < 1$, $0 < y < 1$, $0 < z < 1$,
subject to the boundary conditions
 $u(x,y,0) = sin(\pi x)sin3(\pi y)$ for $0 \le x \le 1$, $0 \le y \le 1$,
and $u = 0$ on the other five faces of the cube C.
 $u(y,y,0) = \overline{x}(y)\overline{x}(y)\overline{z}(0) = xin(\pi x)sin3(\pi y)$
 $\overline{x}(y) = \overline{x}(y)\overline{z}(0) = xin(\pi x)sin3(\pi y)$ for $0 \le x \le 1$, $0 \le y \le 1$,
 $u(y,y,0) = \overline{x}(y)\overline{z}(0) = xin(\pi x)sin3(\pi y)$ for $0 \le x \le 1$, $0 \le y \le 1$,
 $u(y,y,0) = \overline{x}(y)\overline{z}(0) = xin(\pi x)sin3(\pi y)$ for $0 \le x \le 1$, $0 \le y \le 1$,
 $u(y,y,0) = \overline{x}(y)\overline{z}(0) = xin(\pi x)$
 $\overline{x}(y) + \overline{x}(y) = 2(0) = constant = \lambda \Rightarrow -\overline{x}(y) = \overline{z}(0) = -\lambda = constant = \mu$
 $\therefore \overline{x}'(y) + \overline{x}(y) = 0$, $\overline{x}(y) = \overline{x}(1) = 0$
 $[x'(y) + \mu \overline{x}(y) = 0$, $\overline{x}(y) = \overline{x}(1) = 0$
 $[x'(y) + \mu \overline{x}(y) = 0$, $\overline{x}(y) = \overline{x}(1) = 0$
 $[x'(y) + \mu \overline{x}(y) = 0$, $\overline{x}(y) = \overline{x}(1) = 0$
 $[x'(y) + \mu \overline{x}(y) = 0$, $\overline{x}(y) = xin(\pi x)$
 $f(x) = 0$, $(x,y)\overline{z}(x) = 0$, $\overline{x}(1) = 0$
 $[x'(y) + \mu \overline{x}(y) = 0$, $\overline{x}(1) = 0$
 $[x'(y) + \mu \overline{x}(y) = xin(\pi x)$, $(1 \le 1x, 5, ...)$
 $f_{m} = (m\pi)$, $\overline{x}_{1}(y) = xin(\pi\pi)$, $(1 \le 1x, 5, ...)$
 $f_{m} = (m\pi)$, $\overline{x}_{1}(y) = xin(\pi\pi)$, $(1 \le 1x, 5, ...)$
 $f_{m} = (m\pi)$, $\overline{x}_{1}(y) = xin(\pi\pi)$, $(x = 1x, 5, ...)$
 $f_{m} = (m\pi)$, $\overline{x}_{1}(y) = xin(\pi\pi)$, $y = \pi$, \overline{x}_{1} , $\overline{x}_{2}(x) = A$ and $(\pi x \sqrt{x} + x^{3}) + B sink(\pi x \sqrt{x} + x^{3})$
 $f_{m} = (m\pi)$, $\overline{x}_{1}(y) = xin(\pi\pi)$, $y = \pi$, \overline{x}_{1} , $\overline{x}_{2}(x) = xin(\pi)$, $\overline{x}_{1}(\pi)$
 $f_{m} = (m\pi)$, $\overline{x}_{1}(y) = xin(\pi\pi)$, $y = \pi$, \overline{x}_{1} , $\overline{x}_{2}(x) = xi$, $(x,y,0) = \sum_{x} \frac{\pi}{2}$, $\overline{y}_{2}(x) = xin(\pi)$, $\overline{x}_{2}(x) = xin(\pi)$
 $f_{m} = (x,y,0) = \sum_{x} \frac{\pi}{2}$, \overline{x}_{1} , $\overline{x}_{1}(x)$, $xin(\pi x)$, $xin(\pi x$

2^{*i*} 6. (a) Solve $\sqrt{2}^{u} = 0$ in the unit disk $0 \le r < 1$ subject to the boundary condition $u(1;\theta) = 1$ if $0 < \theta < \pi$ and $u(1;\theta) = 0$ if $-\pi < \theta < 0$. (b) What is the value of the solution to (a) at the center of the

disk? Justify your answer.

(a) Prismi Formula:
$$u(r;\theta) = \frac{1}{2\pi} \sum_{n=1}^{\infty} \frac{k(q) dq}{n^2 - 2\alpha r \cos(\theta - q) + r^2} \qquad \begin{pmatrix} 0 \le r < a \\ -\pi \le \theta < \pi \end{pmatrix}$$

dr own case, $a = 1$ and $k(\theta) = \begin{cases} 1 & 2^{1} & 0 < \theta < \pi \\ 0 & 2^{1} & -\pi < \theta < 0 \end{cases}$
 $18 \qquad \therefore \left| u(r;\theta) = \frac{1-r^2}{2\pi} \int_{0}^{\infty} \frac{dq}{1 - 2r \sin(\theta - q) + r^2} \qquad \begin{pmatrix} 0 \le r < i \\ -\pi < \theta < 0 \end{pmatrix}$
 $18 \qquad \therefore \left| u(r;\theta) = \frac{1-r^2}{2\pi} \int_{0}^{\infty} \frac{dq}{1 - 2r \sin(\theta - q) + r^2} \qquad \begin{pmatrix} 0 \le r < i \\ -\pi < \theta < \pi \end{pmatrix} \right|$
 $18 \qquad \therefore \left| u(r;\theta) = \frac{1-r^2}{2\pi} \int_{0}^{\infty} \frac{dq}{1 - 2r \sin(\theta - q) + r^2} \qquad \begin{pmatrix} 0 \le r < i \\ -\pi < \theta < \pi \end{pmatrix} \right|$
 $18 \qquad \therefore \left| u(r;\theta) = \frac{1-r^2}{2\pi} \int_{0}^{\pi} \frac{dq}{1 - 2r \sin(\theta - q) + r^2} \qquad \begin{pmatrix} 0 \le r < i \\ -\pi < \theta < \pi \end{pmatrix} \right|$
 $18 \qquad (r;\theta) = \frac{1-r^2}{2\pi} \int_{0}^{\pi} \frac{dq}{1 + r^2 - 2r \sin(\theta + 1)} = \sqrt{\frac{2}{A^2 - B^2}} \text{ And son } \left(\frac{t_{on}(\frac{1}{T}/k)}{A + B} \right)$
 $18 \qquad (r;\theta) = \frac{1-r^2}{2\pi} \int_{0}^{\pi} \frac{dq}{1 + r^2 - 2r \cos(\theta + 1)} \qquad (r;\theta) = \frac{1-r^2}{2\pi} \int_{0}^{\pi} \frac{dq}{1 + r^2 - 2r \cos(\theta + 1)} = \frac{\pi - \theta}{\pi - \theta} \qquad (r;\theta) = \frac{1-r^2}{2\pi} \cdot \frac{2}{\left\{ (1 - r^2)^2} \text{ And son } \left[\frac{t_{on}(\frac{1}{T}/k)}{(1 - r)^2} \right] \right] \qquad (r,r) = \frac{1-r^2}{2\pi} \cdot \frac{2}{\left\{ (1 - r^2)^2} \text{ And son } \left[\frac{t_{on}(\frac{1}{T}/k)}{(1 - r)^2} \right] - \text{ And son } \left[\frac{t_{on}(\theta / k)}{(1 - r)^2} \right] \right\}$
 $24 \qquad = \frac{1}{\pi} \left\{ \text{ And son } \left[\frac{ed(\theta / k)}{(1 - r)} + \text{ And son } \left[\frac{t_{on}(\theta / k)}{(1 - r)} \right] \right\}$

(b) By the mean-value property for harmonic functions,

$$u(\circ; \theta) = \frac{1}{2\pi} \int u(1; \varphi) d\varphi = \frac{1}{2\pi} \int 1 \cdot d\varphi = \begin{bmatrix} \frac{1}{2} \\ 2 \end{bmatrix}$$

I

Ь

Alternate solution to #6.

(a) $u(r; \theta) = \sum_{n=-\infty}^{\infty} h(n) e^{in\theta} \left(\frac{r}{a}\right)^{n}$ be our case, a=1 and $h(\theta) = \begin{cases} 1 & if \quad 0 < \theta < \pi, \\ 0 & if \quad -\pi < \theta < 0. \end{cases}$ $\hat{h}(n) = \frac{\langle h, e^{in(0)} \rangle}{\langle e^{in(0)}, e^{in(0)} \rangle} = \frac{\int_{-\pi}^{\pi} h(\theta) \bar{e}^{in\theta} d\theta}{\int_{-\pi}^{\pi} |e^{in\theta}|^2 d\theta} = \frac{1}{2\pi} \int_{-\pi}^{\pi} 1 \cdot \bar{e}^{in\theta} d\theta$ $= \frac{1}{2\pi} \left(\frac{e}{-in} \right)_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{e} - 1 \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} - 1 \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} - 1 \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} - 1 \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} - 1 \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} - 1 \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} - 1 \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{n} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{-in} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{-in} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{-in} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{-in} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{-in} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{-in} \right] = \left\{ \begin{array}{c} 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left(\frac{e}{-in} \right) \right\}_{0}^{T} = \frac{1}{2\pi n} \left[\frac{e}{-in} \left[\frac{e}{-in} \right] = \left\{ \begin{array}[c] 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left[\frac{e}{-in} \right] = \left\{ \begin{array}[c] 0 & i \ n = 2k \text{ is even} \\ -\frac{i}{2\pi n} \left[\frac{e}{-in} \right] = \left\{ \begin{array}[c]$ 18 $h(0) = \pm \int_{\pi}^{\pi} h(0) d\theta = \pm \int_{\pi}^{\pi} 1 d\theta = \pm 2$ 20 u

$$(r;\theta) = \frac{1}{2} + \sum_{n=1}^{\infty} r \left[\hat{h}^{(n)}e^{i\theta} + \hat{h}^{(-n)}e^{i\theta} \right]$$
$$= \frac{1}{2} + \frac{2}{\pi} \sum_{k=1}^{\infty} \frac{2k-1}{r - \frac{1}{k-1}} \frac{r - \frac{1}{\mu in}((2k-1)\theta)}{2k-1}$$

24

$$6 \quad (b) \quad u(0;\theta) = \frac{1}{2}$$

$$\begin{aligned} \varphi(s) = \varphi(1) = o \end{aligned}$$
7. (a) Show that the Fourier cosine series of the function ϕ given on
[0,1] by $\phi(x) = x^2(1-x)^2$ is $\varphi(x) = x^2-2x^2+x^4$
 $\frac{1}{30} + \sum_{m=1}^{\infty} \frac{-3\cos(2m\pi x)}{(m\pi)^4}$ $\varphi(x) = 2x - 6x^2 + 4x^3$
(b) Does the Fourier cosine series of ϕ converge to ϕ uniformly on
[0,1]? Justify your answer.
(c) Solve $u_{tt} = u_{xx}$ for $0 < x < 1$, $0 < t < \infty$, $\varphi^{(4)}(x) = 24$
subject to the homogeneous boundary/initial conditions
 $u_{(0,1)} = 0 = u_{x}(1,1)$ and $u_{(1,x,0)} = 0$ for $0 \le t$, $0 \le x \le 1$,
and the nonhymogeneous initial condition
 $u(x,0) = x^2(1-x)^2$ for $0 \le x \le 1$.
(d) Is your solution to (c) the only possible one? Give a complete
justification of your answer.
(a) $A_n = \frac{\langle \varphi(n)\pi \cdot \varphi(n)}{\langle \cos(n\pi) \rangle} = 2\int_{0}^{1} \varphi(x) \frac{\partial N}{\partial x} x = 2 \frac{\partial P}{\partial x} \frac{\partial P}{\partial x} x = \frac{1}{\pi\pi} \int_{0}^{1} \varphi(x) \frac{\partial N}{\partial x} \frac{\partial N}{\partial x}$
 $= -\frac{2}{\pi} \frac{\partial P}{\partial x} \frac{\partial P}{\partial x} \frac{\partial P}{\partial x} x = 2 \frac{\partial P}{\partial x} \frac{\partial P}{\partial x} \frac{\partial P}{\partial x} + \frac{2}{\pi\pi} \int_{0}^{1} \varphi'(x) \frac{\partial N}{\partial x} \frac{\partial N}{\partial x}$
 $= \frac{2}{\pi} \frac{\partial P}{\partial x} \frac{\partial P}{\partial x} \frac{\partial P}{\partial x} \frac{\partial N}{\partial x} = 2 \frac{\partial P}{\partial x} \frac{\partial P}{\partial$

$$a_{o} + \sum_{n=1}^{\infty} a_{n} \cos(n\pi x) = \begin{bmatrix} \frac{1}{3} + \sum_{m=1}^{\infty} -\frac{3\cos(2m\pi x)}{(m\pi)^{4}} \\ \frac{1}{30} + \sum_{m=1}^{\infty} -\frac{3\cos(2m\pi x)}{(m\pi)^{4}} \end{bmatrix}$$

(d) The solution in (c) is imigue, for suppose
$$u = u_1(x,t)$$
 is another solution.
Then
$$w(x,t) = \frac{1}{30} + \sum_{m=1}^{\infty} -\frac{3\cos(2mmx)\cos(2mmt)}{(m\pi)^4} - u_2(x,t)$$

polver

$$w_{tt} = w_{xx} \qquad (o < x < 1, o < t < \infty),$$

$$w_{x}(o, t) = 0 = w_{x}(1, t) \qquad (o \le t < \infty),$$

$$w(x, o) = 0 = w_{t}(x, o) \qquad (o \le x \le 1).$$

$$\begin{aligned} \text{Jet } E(t) &= \int_{0}^{1} \left[\frac{1}{2} w_{t}^{2}(x_{1},t) + \frac{1}{2} w_{x}^{2}(x_{1},t) \right] dx \qquad (o \leq t < \infty) . \\ \text{Jhen } E'(t) &= \int_{0}^{1} \frac{\partial}{\partial t} \left[\frac{1}{2} w_{t}^{2}(x_{1},t) + \frac{1}{2} w_{x}^{2}(x_{1},t) \right] dx \\ &= \int_{0}^{1} w_{t}(x_{1},t) w_{t}(x_{1},t) dx + \int_{0}^{1} w_{x}(x_{1},t) w_{t}(x_{1},t) dx \end{aligned}$$

$$= \int_{0}^{1} \frac{dV}{w_{t}^{(x,t)}} \frac{dV}{w_{xx}^{(x,t)}dx} + \int_{0}^{1} w_{x}^{(x,t)} w_{tx}^{(x,t)} dx$$

$$= \left[w_{t}^{(i,t)} \frac{dV}{w_{tx}^{(i,t)}} - w_{t}^{(0,t)} \frac{dV}{w_{tx}^{(0,t)}} \right] - \int_{0}^{1} w_{tx}^{(x,t)} w_{tx}^{(x,t)} dx + \int_{0}^{1} w_{tx}^{(x,t)} w_{tx}^{(x,t)} dx$$

$$= 0$$

$$E(t) = constant \quad on \quad [o, \infty) \quad But \quad w(x, o) = o \quad for all \quad o \leq x \leq i \quad in plie \quad w_{x}(x, o) = 0 \\ \therefore \quad E(o) = \int_{0}^{t} \left[\frac{1}{2} w_{t}^{2}(x, o) + \frac{1}{2} w_{x}^{2}(x, o) \right] dx \quad = 0,$$

No E(t) = 0 for all $0 \le t < \infty$. But the integrand of E is continuous and nonnegative so $\frac{1}{2}w_t^2(x,t) + \frac{1}{2}w_x^2(x,t) = 0$ for all $0 \le x \le 1$ and all $0 \le t < \infty$. Consequently, $w_t(x,t) = w_x(x,t) = 0$ as w(x,t) = constant on $0 \le x \le 1, 0 \le t < \infty$. However the T.C. W(x,0) = 0 $(0 \le x \le 1)$ implies w(x,t) = 0 on $0 \le x \le 1, 0 \le t < \infty$, is.

$$u_{2}(x,t) = \frac{1}{30} + \sum_{m=1}^{\infty} \frac{-3 cos(2m\pi x) cos(2\pi mt)}{(m\pi)^{4}}$$

for all o ± x ≤ 1 and o ± t < 00.



$$\int_{0}^{1} x \cos(n\pi x) dx = \frac{3}{x \sin(n\pi x)} \int_{0}^{1} - \frac{3}{n\pi} \int_{0}^{1} \frac{3x^{2} \sin(n\pi x)}{n\pi} dx$$

$$= -\frac{3}{n\pi} \left[-x \frac{\cos(n\pi x)}{n\pi} \right]_{0}^{1} + \frac{1}{n\pi} \int_{0}^{1} \frac{4x \cos(n\pi x)}{n\pi} dx$$

$$= \frac{3}{n\pi} \left[\frac{(-1)^{2}}{(n\pi)^{2}} \right]_{0}^{1} - \frac{1}{n\pi} \int_{0}^{1} x \cos(n\pi x) dx$$

$$= \frac{3(-1)}{(n\pi)^{2}} - \frac{1}{(n\pi)^{2}} \left[\frac{x \sin(n\pi x)}{n\pi} \right]_{0}^{1} - \int_{0}^{1} \frac{\sin(n\pi x)}{n\pi} dx$$

$$= \frac{3(-1)^{2}}{(n\pi)^{2}} + \frac{1}{(n\pi)^{2}} \left[\frac{-\cos(n\pi x)}{n\pi} \right]_{0}^{1}$$

$$= \frac{3(-1)^{2}}{(n\pi)^{2}} + \frac{1}{(n\pi)^{2}} \left[\frac{-\cos(n\pi x)}{n\pi} \right]_{0}^{1}$$

Alternate Work for #7(a).

$$\int_{0}^{1} \frac{4}{x} \cos(n\pi x) dx = \frac{4}{x\pi \pi} \int_{0}^{0} \left[-\frac{4}{n\pi} \int_{0}^{1} \frac{4}{x} \frac{Am(n\pi x)}{Am} dx \right]$$

$$= -\frac{4}{n\pi} \left[-\frac{x}{n\pi} \frac{cn(n\pi x)}{n\pi} \right]_{0}^{1} + \int_{0}^{1} \frac{3x}{2} \frac{cn(n\pi x)}{n\pi} dx \right]$$

$$= \frac{4(-1)}{(n\pi)^{2}} - \frac{12}{(n\pi)^{2}} \int_{0}^{1} \frac{x}{x} \cos(n\pi x) dx$$

$$= \frac{4(-1)}{(n\pi)^{2}} - \frac{12}{(n\pi)^{2}} \left[\frac{2}{(n\pi)^{2}} \left[-\frac{12}{(n\pi)^{2}} \right] \right]$$

$$= \frac{4(-1)}{(n\pi)^{2}} - \frac{12}{(n\pi)^{2}} \left[\frac{2}{(n\pi)^{2}} \left[-\frac{1}{(n\pi)^{2}} \right] \right]$$

$$n \geq i$$

$$= 2 \int_{0}^{1} q(x) e_{0}(n\pi x) dx$$

$$= 2 \int_{0}^{1} x e_{0}(n\pi x) dx - 4 \int_{0}^{1} x^{3} e_{0}(n\pi x) dx + 2 \int_{0}^{1} x^{4} e_{0}(n\pi x) dx$$

$$= \frac{4(-i)}{(n\pi)^{2}} - 4 \left[\frac{3(-i)}{(n\pi)^{2}} + \frac{6}{(n\pi)^{1}} \left[1 - (-i)^{n} \right] \right] + 2 \left[\frac{4(-i)}{(n\pi)^{2}} - \frac{24(-i)}{(n\pi)^{4}} \right]$$

$$= \frac{4(-i)^{n} - 12(-i)^{n} + 8(-i)^{n}}{(n\pi)^{2}} + \frac{-24(i - (-i)^{n}) - 48(-i)^{n}}{(n\pi)^{4}}$$

$$= \frac{24(-1 - (-i)^{n})}{(n\pi)^{4}}$$

$$= \begin{cases} -\frac{48}{(n\pi)^{4}} & n = 2m \text{ is sure}, \\ 0 & q & n = 2m-1 \text{ is odd}. \end{cases}$$

etc.

FinalExam (2000 Summer)
$\mu = 127.1$
c = 49.0
Distribution of Scores

174 - A + (1111)

146	- 173	В	1	(1)
120	- 145	С	3	(111)
100	- 119	フ	4	(##1)
0	- 99	Ч	4	(=====)